16 11 4
10 12 15
L 1
[ ]
[ 1092-924-2937
L 1 [ 1 L 1
16
11 25 12 5 16
12
16 (11 7 8
11 14 16
11 14 16
11 7 8
10
16 11 26
29

10



- - C 7 () () () kg/10a
16 3.27 5.13 577a 1.0a 711 a 41.7c 84.3 a 337 ab 109 7.4 86.8hb
. 3.28 5.14 546 a 0.9a 704a 34.9a 85.2a 302a 97 8.5 84.0 ab
8 3.28 5.15 554a 1.1a 707a 37.2b 87.4a 349 ab 113 7.4 70.5a
3.27 5.12 550a 1.7a 696a 37.8b 90.7 a 358 b 115 8.0 78.8 ab
16 4.01 5.15 619 ab 0.9a 722b 41.9c 88.2b 371 b 119 6.5 84.3 a
11 14 4.03 5.16 575a 0.9a 709ab 34.8a 81.9a 290 a 94 7.3 83.9a
16 4.03 5.17 543 ab 1.4a 721b 37.7b 90.2b 372b 120 7.9 71.7 a
4.01 5.15 632 b 1.8a 693 a 37.6b 87.4b 374b 120 7.8 88.0a
16 4.07 5.20 432a 0.0a 721 a 44.4d 94.3 a 323 ab 104 6.9 77.8a
11 26 4.09 5.21 454 a 0.0a 706a 37.4a 91.8a 265a 85 7.6 88.4a
29 4.08 5.21 415a 0.0a 721 a 41.8c 94.4 a 310 ab 100 7.5 79.6a
4.06 5.19 496a 0.0a 702a 40.5b 95.1a 361 b 116 8.3 8l.4a
16 4.14 5.22 505 0.0 703 43.6 85.0 323 99 7.0
12 1s 4.15 5.23 365 0.0 707 39.3 90.0 276 85 10.0
4.14 5.23 430 0.0 699 36.3 85.0 274 84 7.5
4.13 5.22 476 0.0 688 38.6 93.0 355 109 10.0
1. 2000 2003 4 2001 2003 3
2003 1
2. :100 150 7/ 150 / 200 7/
3. N kg/a) 0.6 0.3
4. = 2 3= 4= 5=
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6. 100
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